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This connected path invites people to enjoy 
restaurants and shops, walk or ride among trees and 
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A signature 21st century place, completely unique 
to Portland and open to all — our ”Central Path” 
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NOTES:

Alternative  Alignment A

A1. Coordinate Broadway Bridge approach sec on with 
Pearl District Street and Circula on Plan (2012); transi on to 
NW Hoyt

Alternative Alignment B

B1.  Link Broadway Bridge pathways to North Park Blocks, 
NW Johnson and new open space(s) with USPS redevelopment

2. Explore temporary or permanent closure of NW Flanders for
open space

3. Improve connec vity, visibility to/from Willame e Greenway
Trail at Steel Bridge ramps/NW Flanders

4. Explore temporary or permanent closure of NW Davis for 
open space

5. Signature crossing improvements at W Burnside, links to 
Ankeny Square, SW Oak

6. Reclaim ROW used for bikeway “test” on SW Oak for green
street improvements; improve way�nding and access from
Morrison Bridgehead

7. Coordinate with redeveloped O’Bryant Square

NOTES (continued):

8. Explore mi ga on for on-street parking between W
Burnside and SW Salmon

9. Crossing improvements needed at Shemansky Square, 
SW Salmon

10. Develop signature green/�exible street design for 
SW Salmon; improve way�nding and access from
Hawthorne Bridgehead 

11. Explore temporary or permanent closure of SW Madison 
for open space

12. Crossing improvements needed at SW Market, coordina o
with streetcar stop 

13. Redesign PSU park blocks to increase mul func onality, 
coordinate with SW Montgomery green street

14. Redesign I-405 overcrossing at the Park Blocks for 
addi onal open space func ons
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WILLAMETTE RIVER: CENTRAL REACH
Urban Design Concept
DRAFT 01/21/14

CENTENNIAL MILLS
•  Mixed-use, open space and 

river access opportunities
•  NW 10th and Pettygrove green 

streets provide human access 
and upland habitat connections

•  Fish habitat sustained and 
enhanced

ROSE QUARTER/ 
CONVENTION CENTER
• Commercial and entertain-

ment opportunity area at a 
multi-modal hub

• Mixed-use opportunity at 
Thunderbird site

• New amenities spur boating 
activity

REACH-WIDE
• Celebrate the river!
• Increased human access to river that is 
� ������	
���
	�����������
	���	�����
	����
• Art, culture and historic attractions, displays 

and activities 
�� ���������������������������	��������������
 and visitors
• River commerce increased 
• Shallow water habitat maintained 
• Strategic bank enhancement and connec-

tions to upland habitat

McCORMICK PIER
• Touch the river 
�� ������	
���	�
����������	�����	���

improved bank habitat

EASTBANK CRESCENT
�� ������	�������������������

public use and habitat
�� ����
������	�����	���	����-

ties
• Seasonal swimming co-exists 

�������������	����

OMSI
• Commercial, cultural and 

employment opportunities 
at a multi-modal hub

• Greenway trail changes 
�������������������������
access and provide quiet 
spaces

• New amenities spur boating 
activity

�� !�������������"�
	���	���
Holgate Channel highlighted

SOUTH WATERFRONT
• Urban neighborhood with supportive commercial 

and recreational opportunities
• Riverbank habitat maintained
• Mixed-use opportunity at Zidell

TOM McCALL WATERFRONT PARK
•  Commercial activity such as small retail kiosks at 

nodes
�� #�����������	�
������������������������	��������
�� $��
�
��	�����������	��������������	�����������	���

addressed
• More year-round and evening activities and events
• More human access to the river
�� %��	����
�����������&����	����������	����������-

ation and play areas

HAWTHORNE BOWL
�� '�	���	
������������(�)����������������-

gration
• Public uses and events promoted 
�� '�	

����	���������	���	������	�����	���

enhanced
• New amenities and activities include re-

��������	����	�*

RIVERPLACE MARINA
�� ������������	
���	��	���
������	�����	���

amenities
• New narrower dock to reduce impacts on 

���
• Montgomery green street provides human 

access and upland habitat connections 

LEGEND
�����������%���	��������������������	
�����
+������	
�����������������������	���
Human access to water/ swimming
"�(�	�����	���	�����	��������	����	�����	���

Add native vegetation where possible

Potential redevelopment

Potential regional cruise ship docking

Potential water transit stops with retail activity

.������������2�������������

����
���������
�������������������������

3	4��������������	������
����

Enhance Naito Parkway to ease east-west move-
ment toward the river

Willamette River Central Reach boundary

Distinct areas/neighborhoods along Central Reach

5�����������������������������������
access to Eastside bridges 

������	���������	�������6�6�
	
��	�������������
	���
native vegetation and maintain
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